Inter (Part-1) 2015

Computer Science

PAPER: |

Time: 20 Minutes

(OBJECTIVE TYPE)

Marks: 17

Note: Four possible answers, A, B, C and D to each question

are given, The choice which you think is correct, fill that

circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles
will result in zero mark in that question.

6-  Who proposed a'demgn of stored

1-1-  The songs and speeches represent:
(@) Image (b) Text
. (¢) Numeric ~ (d) Audio v
2- Which is a storage device:
' () Floppy v (b) CPU
~ (c) Clock (d) BUS
3-  Example of numeric data is:
(a) 5.2 (b) 6.4
(c) 3456 (d) All of these v
4- Which register contains the base location of the _
current program stack:
(@) ES (b) DS
(c) SS v (d) CS |
5- OMR technulogy used to read the test mark of:
a0 ST (b) GRE .
 (c) MICR - " (d) BothA&B v

“(8) VAN Neumann v (b) Blaise Pascal -

(c) Babbage

s ~ The length of IP address is:

(d) Sir Rutherford

(a) 8 bits - (b) 16 bits -
(c) 32 bits vV (d) 64 bits
. 8- A virus that replicates itself is called a:
(a) Bug (b) Vaccine
(c) Bomb (d) Worm
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How many types of partltmns are:
(R ey s )l
()6 (d) 8 -
Data that is shown on display unit cltht,r in the furm

‘of audio and video is called: L)

(a) Hardcopy  (b) Soft copy */

(c) Share t:opy | (d) Null copy ¥

- CBT suftware is used in: Vi

(a) Education v . (b) lndustry l ,
'~(c). E-commerce - (d) Busnness

" 'The examplc of antmrus is:
* (a) MCA fee 1/ " (b) Trojan horse

{e) Worm™ 7" (d) Logic bomb _
Which of the following memory is temPurary
() ROM - {b) RAM ¥
“(c) PROM “ (d) EPROM *

“““ Types of apphcahon suftware are
@) e e (b) 4.
Aey:3 = 4, (d) 2 vl A e
Which lavcr of OSI model does data cumpressmn

1t (a)"Network " () Presentation. N N
(c) Data Imk _(d) Physical -
Many banks pmwde the famhty uf ‘
“(a) CAD” " (b) CAM: .' e e s A
() CBT - -~ - {d) ATMY";

How many palrs of computers can s:multaneously"-" iR

i commumcate on Ethernet LAN

= ()i e (b)z Sl
_(c) 3° () Mu!tlple 1/
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